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FHUES AN (HED) 1,126,000 1,101,000 25,000
AR FOUKAANL(ASH) 1,020,000 1,020,000 0
401 Al HI L 2l 1,020,000 1,020,000 0
01 Al H 1,020,000 1,020,000 0
OHi 45 OFS = Hl (100m) 2 14,200,000 14,200 15,000 £ 800
OZ20h th+=2JHl(150m)  ZF 20,545,008 20,545 20,000 545
OZ20h 5H& =l (100m) 2 14,900,000 14,900 20,000 A5,100
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OXE A& =l (50m) 2N 28,764,000 28,764 25,000 3,764
OAIBIE DFSOH2 &4 2 J| (450m)
2 41,596,000 41,596 40,000 1,596
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2N 23,198,000 23,198 30,000 16,802
ORE Jb=al L& X (50m) 2y 08 0 15,000 A 15,000
ORZE JICHLLR L =& 14,500 0 14,500
O A& = HI(250m) 2 14,200,000 14,200 25,000 A 10,800
Og4 or2 &l (100m) 23 0 0 15,000 A 15,000
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O=2Xl Dtsg4dx 28,198 0 28,198
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OYA DS Z & H(A=1100m® )

A 34,720,000 34,720 30,000 4,720
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Os¢ =2 HYl HIIS2XH2ES 5,200 0 5,200
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